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NAME:






PERIOD:

BACKGROUND:  After looking at our family of zorks, we are now going to look at the possibility of what the children of the zork family will look like with two traits at a time.  This is known as a double cross.  When we segregate the alleles in this case we will have four different phenotypes and nine different genotype possibilities.  We will still use the terms heterozygous and homozygous.  You will use the information from the zork genetics sheet.

EXAMPLE: 

Cross a heterozygous one fang, no wing zork with a Homozygous one fang, heterozygous two winged zork.  

A. What are the possible phenotypes of the offspring in this cross?

1.  Look and find what the parents are in this cross.  You will have four letters (alleles) for each parent, since we are now looking at two traits at once.

Heterozygous one fang, no wing = Ffww

Homozygous one fang, hereterzygous = FFWw

2.  Set up the punnett square and segregate the letters (alleles) of each parent.

Remember that each parent must donate half of the alleles (letters) to the offspring.  Each parent will donate one of each letter of what they have!  We will use a process similar in math called FOIL.  It will work like this: F= First letters of the genotype, O=outer letters of each genotype, I=inner letters of each genotype, and L=last letters of the genotype.

Ffww = Fw (first), Fw (outer), fw (inner), fw (Last).

FFWw = FW (first), Fw (outer), FW (inner), Fw (Last)

Now place them on the punnett square and cross them like we have done in a single cross.
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List the phenotypes:  Look in the boxes!  They are:  8 one fang, two wings and 8 one fang, no wing zorks for the possible phenotypes.

1.  Tork is homozygous for being tall and for having one leg.  Vorkina is short and has two legs.

A.  What must be the phenotypes and genotypes of Torky and Vorki?

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	


2.  Torky is tall and has green hair.  His wife, Morkalina as you remember is short and has yellow hair. Use Problem number 8 from zork genetics to help you.

A.  What are the phenotypes and genotypes of their offspring?

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	


3.  Spork and Vorki are both tall and have three eyes.  Look at problems 7 and 9 from zork genetics to help you.

A.  What will the phenotypes and genotypes of their possible offspring be?
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